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1. TS W AR 0% Teh I BRew ;0 1x8=8

Choose the cgrrect answer of the following

questions : '

(@ R @ IR wiRemmg Rowa 2

Microeconomics does not deal with
(i) SR 5 / aggregate demand
(i) B BMH / national product
(i) STHRIYI VY / general price level
(iv) SR BT / All of the above
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(b)

(c)

p7/8

(2)

‘oftn R¥a spm

Law of demand’ indicates

fi) 9T TS B it T

more demand at the same price

(i) % WS SR o

more demand at higher price

(i) 3 e wRF wlkw w4

more demand at lower price

fiv) 37 qbrs 7=y
None of the above

e @ qum

.An indifference curve

) W@‘FWWC’TW@WW

slopes upwards from left to right

c’- ‘.;--
(@) NEFRR {1 Girerr A T
- slopes downwards from left to right
(i) SIS gy
is a horizonta.l line

is a vertica) line
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(3)

(d) @ AfSHeR o Hifds 2'], @fem

(e
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Profits for a firm are maximum, when
fii MR > MC,
(i) MR < MC
() MR = MC

(i) MR=MC =0

o afeafer cras R fafre =

Under perfect. competition, price is
determined by

) @ IR ST =Rt

force of demand alone

(i) (FRF QIR <& 7/
force of supply alone

(iti) SRR S oI TSI R 7y
both the forces of demand and
supply

(iv) SRR BRI

All of the above
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(N ‘aohned AfSwafier’ Rk I’ T e
R ?

‘Monopolistic competition’ is associated
with the name of .

(i) SR I
Joan Robinson

(i) =
Marshall

(ifi) cTREA
Chamberlin

(iv) TR

Keynes

(g) cfsm I wm st =, cofan
When total revenue is maximum, then
i MR=0=
MR equals 0
(i) AR=0
AR equals 0
@ii) MR > 0O
MR is greater than 0

(iv) IR SHRILGI
All of the above
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(5) -

() S SF AATOR o T8 T

The relationéhip between profit and
uncertainty is ’

(i) #or% / direct
(i) ReRe / inverse
(i) * / zero

h (iv) 8| 918 928 / None of the above

2. R @on vt 5y G P (afes 150 R
foow9) : 4x4=16
Write short notes on any four (within
150 words each) :

(@)

{b)

{c)

(@

fe)

P78

Rsre SIREFR AR

Scope of microeconomics

P Al
Quasi-rent

7 ool A fEF TorAiier A ot

Relationship between total utility and
marginal utility

S I
Opportunity cost

el IS AF TFERT are

Normal profit and supernormal profit

( Turn Over )



(6)

3. fa) RIS WY wef oy | RUED GRS ]

4.
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(b)

(a)

(v}

SR Ao et ey | e weaT
M Sz e R 2+5+4=11

. Give the meaning of microeconomics.

Distinguish between micro- and macro-

economics. What are the objectives of
microeconomic policy?

YA/ Or

IS kAR Rowmew Ry SIPTR 3
N e P wetaRe R
SEFRR (RS 74493
Explain  different types of micro-
€Conomic analysis. Also point out the
limitationg of microeconomic analysis.

ﬁ@?mﬁmﬁzﬁ Tognirer RRGH
W;T"q'?tﬁﬁamﬁ?p &g ol | 8+4=12

YR/ Or
T MRy g -
T L PR hﬁzﬁdz
What jg

ingj : s
PTOpertieg fferenCe CUI:Ve? Discuss 1t
aPpropriate diagram.
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5. (a)

(b)

P7/8

(7)

Rt @4 SRl e & T8 7 SR
¥ 6 o1 o 2 oG 9 TS ST IR T
o I 9| o 2+2+7=11
What do you mean by equilibrium of a

firm? What are the two basic conditions
for equilibrium? Explain the

- relationship between average cost and

marginal cost.

o/ Or
o PR oS T s+ 24242424311
Write briefly on the following :

@) P&
Total fixed cost

(i) 3 ARTEAEA T
Total variable cost
(i) e 9
Money cost

(iv) oFS W
Real cost

(v) R& I

Selling cost




(8)

6. (@) < dfscire B2 of 2Raier sBTe W
et e =, Imm ) 2+9=11
What is perfect competition? Explain

how price is determined under perfect
competition.

{1/ Or

(b) SFTHAN W FTS W TTeEE
WWWWQ,WW| 11

Discuss how the short-run and

long-run equilibrium are attained under
monopoly.

7. (@) RRW AT Seomiorer TR SRS GF
RIS R0 7R 447 | 11
Critically  explain the  marginal
productivity theory of distribution.

) T 7 Ao w7z SO SgEAAl
hal ﬁmwmwﬁmmu
' 1+7+3=11
bearing
tations.

What is profito Discuss the risk-
theory of profit. Point out itg limi
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